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Exemplo 1

Resolvido Scilab (free)

function [] = Bode exl ()

mode (0)
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g=poly(0,"2")
h-=gyalin{'c', (E+{L1+L2)*3) -/ (L1*L2*C*3~3 + B*L1*C*3~2 + (L1+L2)*3 +R))

e
(=

12|clf{) sbode(h,0.01,1=8)2

13

14 |num- = poly (- [R, (L1+L2)], "x", "cosff™)
15|disp('Zerocs")

16| roots (mum)

17

1glden = pcly (- [E, - (L1+L2), - {(R*L1*C), - {L1*L2*C) - -], -"x","coefi"™)
1a|disp (' Poles")

20| xocots {den)

21

22

23

24 |endfunction

25

Output



--»Bode_exl

Sk—

1000 + 0.0012s=

1000 + 0.0012= + 1.000D-08= + 2.000D-15=

1000 + 0.0012=

Zeros

ans =

- B33333.33
den =

2 3
1000 + 0.0012=x + 1.000D-08x + 2.000D-15x

Poles
ans =

- 4858348.4
- 50825.782 + 313423.461
- 50825.782 - 313423.461
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